Lattice Multiplication

Use lattice multiplication to find each product.

5 2
4 6 5 1
2 9 5 5
5 4 7 7
3 6 9 5 4 5 5 0
) 9 5 2
5 8 0 5
4 2 9 1
36 x 254 — 95 x 982 = 45 x 509 = 50 x 251 =
3 6 7 8 1 5 8 9
4 7 7 1
4 1 3 7
5 0 3 3
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Lattice Multiplication Answers

Use lattice multiplication to find each product.

3 1 5 5 4 3 : 2
3 2 6 4 6 4‘ 4 6 5 5 5 > 00 SO )
10, 8 18 3 /] s o
5 6 8 8 1 1 4 5 5 g 5 0
4 2 5 3 3 4 6 4 7 3 ‘l
7 0 0 7 6 6 0 3 9 1‘ 5 4
0 0 0 6 2 9 3 1
84 x 425 = 99 x 694 = 97 x 557 = B
35,700 68,706 54.029 S2x 157 =8,164
) 6 89 45 24 25 15 ()0
00 61 5 2 9 1 5 ? 2 0 5 > 1 0 0
1 3 7 4 8 0 0 0 2 0
9 5' 0 5 3 2 0 2 0 0 2 5 0
1 5 1 1 o) R) 4 9 0 0
| 5 4 4 2 8 0 9 6 5 5 5 0
7] 7] 9 0 0 5 5 0
B 05 x 982 = 45 x 509 = 50 x 251
36x254=9.144 93 19 22905 12,550
3 6 7 8 1 ) 8 9
1 2 4 5 0 0
1 2 4 4 5 9 6 ! 00 71 4 7 1 8 9
1 2 4 0 0 1 0 ] 5 6
6, 2|/ 4 5,7, 8 o sl 6l 3
1 3 5 0 0 0 0 0 2 2
0 5 0 3 0 0 3 3 6 3 3 4 7
2 0 8 0 >9 - 6 9 7
36 x 445 = 78 x 710 = B 89 x 173
16,020 55,380 12x783=9,396 135 397
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